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If books bought at price from Rs. 150 to Rs. 300 are sold at prices ranging from Rs. 250

to Rs. 350. What is the greatest possible profit that can made in selling 15 books?
150 & & 300 % ok STl o Yot WX feharel TRIET ST 2 3R 250 T € 350 T h sl o Todl W

I8 T ATAT 8, A 15 Feharat st oA i erftrepan e wmgrm?. (HLW)
1)2000 2)2500 3)3000 4)2500
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Selhng price of two watches is same. One watch is sold at 15% loss and another at

19% profit total cost price of two watches is Rs. 480. Find cost price of each watch ?

21 AT o Isha Hod aRTaR 31 o 9 &l 15% BT OF SIelT 74T T godt 9t &t
19% ST U =T M) AfS S afeat o el shel Hod ST HIF © 480 T&T at Ja13
TeAe: TSt Rl ohdl Tl Toha T 82

(A) 280,200  (B) 385,400 (C) 300,350 (D) 330,200
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An item was bought for Rs X and sold for Rs Y, thereby earning a profit of 20%.

Had the value of X been 15% less and the value of Y Rs 76 less, a profit of 30%
would have been earned. What was the value of X?

T ATICH TS G, H GHGT 14T 9T AR Y &, 7 == foam o, e 20% 67 14 3 3R X T
T 15% U AT Y 1 Hod 76 TUA hH BT, AT 30% T 19 AT fehdT SITATI X BT | T
oT?|

(a) Rs 640 (b) Rs 400 (c) Rs 600 (d) Rs 800




A man bought an article and sold it at a gain of 10%. If he had bought the article at
20% less and sold it for 1,000 more, he would have made a profit of 40%. The cost

price of the article (in ) is:

Tk STTEHT 7 Uk o6 TET 3R I8 10% o AT W o= fEam| afs 36 9% &l 20% FH W
TRIST BT R 3 1,000 37Ferh 5 <= ghat, T 3/ 40% T AT Tl 6 ol 37T 0o (%
ﬁ‘) 2

(a) 50,000 (b) 60,000 (c) 40,000 (d) 25,000
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By selling an article for Rs.2,200, a profit of 10% is earned. If the same article is sold

for Rs.2,600, then what will be the gain percentage ?
TS & <Rl 2,200 TOF H G W 10% KT ATH TSI (haT ATAT 31 AT IHT & 6T 2,600

TUI W T ATAT &, A1 T Tfa9ra &Im g2 (CGL mains 2022)
(a) 20%
(b) 15%
(c) 37%
(d) 30%
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4% of the selling price of an article 1s equal to 5% of its cost price. Again 20% of the

selling price 1s Rs.120 more than 22% of its cost price. The ratio of cost price & selling
price 1s :

forelt ] o Torshal & T 4% 36eh 5h3 HTT o6 5% oh SIS & T: Torshal qed T 20% 39
S Hed o 22% ¥ 120 T 31ereh 8| 6 Hed ST forshal {ed shl 37T 2

(a)2:3
(b)3:2
(c)5:4
(d)4:5




For an article the profit is 220% of the cost price. If the cost price increases by 25%

but the selling price remains same, then new profit percentage is how much % less

than original profit percentage (approx.)?

Tk S o foT0 19 0T 0 T 220% 21 TS TRTT Tod 25% ¢ ATqT § Afeh forsht

o T FAT 8, 0 TAT AT TA9Td TeT e Tfasta (e7me) & fohaan % & 52

(CGL PRE 2022)
(a) 22%
(b) 26%

(PA

(d) 31%
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The cost prices of two articles A and B are in the ratio 4 : 5. While selling these
articles, the shopkeeper gains 10% on article A and 20% on article B and the

difference in their selling prices is Rs. 480. The difference in the cost price (in Rs.) of

articles B and A is:
S AETAT A 3R B ST NI ol 4 1 5 ok ATUTA W €1 37 A AT h1 ST T, TehTIEH <hl
TET A W 10% FAR T B T 20% T ATH BT & 3TR 37k foshar qodi # 3iat 480 T0 2)
€T B 3 A & IR Hed (99 H) | 31 &
(SSC CGL 2022) (a) 250
(b) 300
OF
(d) 350
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of 60 percent, the second article at a loss of 40 percent and the third article at

otal cost price of three articles is Rs. P. The first article was sold at a loss

a profit of 20 percent. If the selling prices of all are equal, then find the ratio

of cost prices.

oI STE3AT hT el She Hod T, P. TEeil o hl 60 TT9Td <hl BTH Y, TE o&q
hT 40 STTT9T ST T U ST et S SRt 20 TTA9TA ok ST UR ST 14T i
Tt o Torsha Tod THT &, 1 ST Hodt ol STUTd [T hifTul

(a)3:2:1
(b)1:2:3
(¢)2:1:3
do6:2:1
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Kiran purchased a scooter for Rs.52000. He sold it at loss of 10%. With that

money he purchased another scooter and sold it at profit of 20%. What is his

overall loss/profit?

foRTOT 71 52000 TIX T T THet TSN I 38 10% Y T W= foam 3@ i
| 30 Teh 3R The TUAT 3R IH 20% o TH U o 32T IHeHhT Fel
TRAT/ATH T 32

(a) Rs.4160 profit
(b) Rs.2060 profit
(¢) Rs.2560 loss
(d) Rs.1340 loss
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A lady sold an article for Rs 960 at some profit. Had she sold it for Rs 800,

then there would have been a loss equal to 1/3 of the initial profit. What was

the profit percentage of the article?

T WIEAT T Uk TET Rl 960 TUI H S AT WX STl Af 36 39 800 T |
I BT, A7 TR T o 1/3 o SITa BT Bl S ST oTTH STd9Td ot o?

(2) 150/7 % ) 50 /7 % (¢) 10/ 7 %% (a0) 100 /7 %%




Rav1 sells an article at 10% loss, if he buy it 20% less it’s cost price and sells it for

55 rupee more then the first selling price, he gain 40% Profit. Find the Cost Price ?
TFer ToReEt ST T 10 % BT T =T 7, TTe 98 3H 20 % 6T H T@AT 99T 55 €0
TR | SdT &, A1 3H 40 % R T AT 8, T T Hd Hod 4T BT 2

(A) 200 (B) 250 (C) 300 (D) 450
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A shopkeeper sell an article at profit of 10%, if he had purchase on 10% less and
sold it Rs. 30 more, then he get Profit of 25%. Find the Cost price of article ?
Teh SRTAR ferdlt I T 10 % T T =1 AT T8 10 % T § TRISAT 3R 30
BUIATESR T FAAT &, AT 25 Y% T ATH AT &, AT T 6T 36l Hed FT R 2
(A) 1000 (B) 1200 (C) 1500 (D) N.O.T.
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A man sold 2 articles- A (at a profit of 40%) and B (at a loss of 20%). He earned a total
profit of Rs. 8 in the whole deal. If article A costs Rs 140 less than article B, what is the

price of article B?

Teh STTEHT ¥ 2 T A= A (40% o AT W) 3R B (20% Y T W) 3214 W HIS § FHeT 8
EUI T ATH HATAT ATE TET A T AT B | 140 T A §, A1 T%q B AT hHd 71 52
a) Rs 380 (b) Rs 375 (¢) Rs 280 (d) Rs 320

18
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A man buys 2 apples and 3 Kiwi fruits for 37 rupees. If buys 4 apples and 5
Kiwi fruits for 67 rupees. Then, what will be the total cost of 1 apple and 1

Kiwi fruit?
Ueh JMTSHT 37 TUT | 2 AT 3R 3 kIt Wer THEAT 21 T 67 TUA | 4 AT A 5 ket et

TREAT g1 a, 1 9 3T 1 st el Rl hel Hod FIT ERI
(a) Rs 20 (b) Rs 28 (¢) Rs 18 (d) Rs 15

19
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The selling price of book, including the sales tax, is 956.34 rupees. The rate of
sales tax is 10%. If the shopkeeper has made a profit of 15%, then the cost

price of the book is:

forsht Y wfea geash o1 forsha 7o 956.34 T 31 Torsht ot T X 10% ) e
THMER T 15% T ATH HHTAT 8, AT TEdeh T AN Tod &:
(a) Rs 756 (b) Rs 797.34  (c)Rs 845.98  (d) Rs 836

20
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On selling 10 Apples, a seller makes a profit equal to the selling price ¢

an apple. Find the Profit percent :

10 ¥ TR o TR Ueh O o {5k o o RIS o197 2T 81 At ore gfevra
T BT ?

(A) 11 (1/9) % (B) 9 (1/11)%

(C) 10 % (D) 20 %




Loss incurred by selling an article for Rs 550 is equal to half of the profit galneby
selling same article for Rs 850 Find the cost price of this article?

ToRelt e T 550 B. | S ST BT et & o 850 &. W 9o U g3 ST ATET §| o 1 370
e AT 1

1)550 2)650 3)750 4)500

22
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The profit earned n an article is sold for Rs. 800 is 20 times the loss incurred when it is
sold for Rs. 275. At what price should the article be sold if it is desired to make a profit
of 25%.

Tk & ot 800 TUA H ST WX FHT T 39 &G i 275 TUA | S WX g JTH T 20 AT
2 25 UTavTe @19 HHT o foru aeg w1 feRer e oX S S

1)325 2)375 3)400 4)500

23







